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% rad - central radius of the half moon
width of the half moon
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distance between two half moons
d = dist;
rad = 10; % central radius of the half moon
width ¥ % width of the half moon
num tr = 1000; % number of training sets
num te = 2000; % number of testing sets
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num_tr+num te; s number of samples

aa = rand(2,n samp/2);
radius = (rad-width/2) + width*aa (1, :);
theta = pi*aa(2,:);

X = radius.*cos (theta);

% = radius.*sin (theta);

label = 1*ones(l,length(x)); % label for Class 1
x1 = radius.*cos (-theta) + rad;

yl = radius.*sin(-theta) - d;

labell= -1*ones(l,length(x)); % label for Class 2

plot(x,y,"'*")
hold on
plot(x1l,vyl,'o")



